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1 22 03007871 /NEFE Ak g 3 43.94 4718 1:31.12 0.00
2 2103007436 SO fEPE IS o] P i 3 4456  47.01 1:31.57 3.56
3 2303009165 I B e it Hp o 2 44.21 47.62 1:31.83 5.61
4 27 03007623 /NEFE ZE(E X[ e 3 44 .95 47.58 1:32.53 11.14
5 26 03008967 mfE FEA RANG)=—F S 2 44.81 48.54 1:33.35 17.62
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14 36 03007520 F&3FE =K =P 3 4910 5158 1:40.68 75.54
15 30 03010916 EfE ZHA e it H o 1 46.14 5758 1:43.72 99.56
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NERL 25— a-b R 1AH 24KH & it FT/@X
No No K4 g A4 15 T i R A
DID NOT START [1st RUN] 0
DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
24 03007434 xR suik R 3
DISQUALIFIED [2nd RUN] 0
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